[TRTATcHE gerer

Group A (15x1=15)
e IAX FIerd | Choose the best answer.

1. TART L HA IUH T Yfaleerl IaTe &l 7 Which of the following is an
example of local technology?

(A) UTg=ET Grinder (B) 9= HIGT Thresher machine

(C) €aT%eX Tractor (D) &4 Plough

2. HFIIIH B [AgT=Thl ITYHT FH % &l ? Which is the correct order of working
principle of a computer?

(A) 399, ATICIE, &9 (Input, Output, Process)

(B) 9THH, ATICYL, T (Process, Output, Input)

(C) =792, 9rHd, AT3EYe (Input, Process, Output)

(D) &T3<dYe, g9, Ir{d (Output, Input, Process)

3. TAHT HET FoATeh| YHY 9r1d & g1 7 Which of the following is the main source of energy?

(A) HTET Soil (B) 9=l Water
(C) I Sun (D) &TaT Air

4 TART HH | Ahed (geal &4 & 7 Which of the following is non-flowering plant?




5. RIS ST T3 I HISTHAT AUHT AT % &1 7 Which organ in fish works as lung ?

(A) STT Skin (B) ¥aTE=ST Trachea
(C) frer Gills (D) ®TET Lungs

6. faguerl f=ra¥T & Sfrav gfehar @Tguat & ? Which life process is shown in the given
picture?

(A) I&ae Transpiration
(B) ¥a1H994TH Respiration

(C) TehTeT HYAYT Photosynthesis
(D) 9¥@&+ Transportation

7. AR THTE & 2l 7 What is the unit of force?

(A) [T Kilogram (B) *q&+ Newton
(C) fHeX Meter (D) ¥h+g Second

8. T |ATT YRUSTATE UFHIAT U % fEehlUepl T qTaTel TGS el J@ISUH B | In
the given figure, Dawa suddenly shot out the ball towards the post and Furba is catching it.

B BRI HHUSIHT &l deaad g3 ? Which type of change occurs in football due
to force?

(A) TR shape (B) HTSST size

(C) T speed (D) FATEAT state



9. Fer T gebTeT TEIRAT qEATST TRATHATT I@ISUHT T | dfedl fwareeraar H9a< g
T T <fgud | A7 fRarearaesare & ey et afews ? In the given figures,

two experiments related to the light are shown. In the first experiment, candle is seen but not
in the second experiment. What conclusion can be drawn from the experiments?
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(A) FebTaT fqam@m™E T yarT g | Light propagates in a straight line.

(B) IehTeT FhHGTHT FIARIT g | Light propagates in a curve line .

(C) IebreT ulﬂ%lsh YGTHT Y9IRUT g5 | Light propagates in any type of lines

(D) FpTT THIRIT %ﬁﬁ | Light does not propagate.

10. IR AR YART T edl dTed] g Miekd AT %A &l ? Which energy
conversion takes place while glowing bulb by using simple cell?

(A) TebTeT eTfaT farra eTfaT™T Light energy into electrical energy
(B) fa=re erfaq Ir&mafes Qi Electrical energy into chemical energy

(C) TrATAT oTiekT WehTeT QTTHT Chemical energy into light energy
(D) fargga ettt i@ 9TfTHT Electrical energy into kinetic energy

11. TAHTHE FH JTBIUETE TRYIAT (92 4718 g3 ? Which of the following conduct
current electricity in a circuit?

(A) I Cell (B) ¥=TeTe O Conducting wire
(C) &= Bulb (D) &= Switch
12. I =gl [G9IaT %4 &1 7 Which one is the characteristics of sedimentary rock?

(A) STETALY 91573 | Fossil is found.
(B) JEATRT fHAT WRTHT 91273, | Found inside of earth.

(C) SATHTSTE okl &< | Formed from lava.

(D) ™ 9bIHbl AglAA=I bl g5 | Itis harder than other type of rock.



13. ArHTATE AT AR IR YART TS RO &A &l ? Which is the reason of using
copper to make electric wire?

(A) ATHTATS fIdX aTam RT3+ Afeh=s; | Copper is malleable.

~

(B) aTHT fareraepl F=TeA® &1 | Copper is good conductor of electricity

(C) dATHT dT9el =TT 1 | Copper is good conductor of heat

(D) ATHTATS 1Y AT AT Yo Al | Copper can be melted in low temperature,

14, JeETe QAP ARIR TF ATAATs % A7 ? What is the motion of the earth around the
sun called?

(A) 9REHHT Rotation (B) 9RIHIT Revolution
(C) &% @I = Curvilinear motion (D) faeme@r@ AT Linear motion
15. A ¥ fgaToivadT AUH! ASTAH qad hieR AT e | fgaxsived TR TLhl T

FTeel THRT TH ART del ThT ar@wg | A TR ATIRAT FA FT5 [6F B 7
Sodium element present in soap and detergent cleans the dirt. Cleaning with detergent looks
cleaner than cleaning with soap. Based on these facts, which statement is correct?

(A) feezsiee Araw=T =gl gaelier g3 | Detergent is more soluble than soap.

(B) AT fgasiva W=l oGl YA & | Soap is more soluble than detergent.

(C) TS ¥ fgazsiva arTar ga=eiiel g3 | Soap and detergent are equally soluble.

(D) AT ¥ fgawstve go ITWHAT Fewefiel gavv | Soap and detergent both are not soluble.

Group B

16. TH AT Thlgehl ATd% YANT EAHI R & &1 ? What is the reason of using S unit
widely? (@8]
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17. SITST ATHAT FHEHL MU 3% | T A hahidls & HIeal 878 7 In winter season a

dog curls into ball. How is the dog benefited from it? 1)
18. RTehTeRT R AATTE GERMT FHA FA Tl G | & Aol I TeAehl IS THATHT
AR FATIA kA 7 HROAEA ATRAT (=R T&Ad T4 | A lotus flower is

blooming in a pond nearby Radhika's house. Can she grow the plantlet of that flower in the

pot? Justify your opinion with reasons. @)

19. e qTRTeriaer agiaaT fa=sae Te+ &1 9+ &l Y419 95 7 What impact can be seen

in an ecosystem in the absence of decomposer? Q)

20. FeraHT fagUehl I IeAg®eb! ATH T JUIINTAT J&dald | Write the name and use of the
simple machines shown in the picture.
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21, TR (879 & &S7 T 9 oS HTHAT ITHET Jebl SIATH] F&dl TR afavs, g
S@r3erd | What change in the size of shadow does Ramila observe when she stands outside
in sunlight at 9 am and 11 am? Show it by diagram. 2

o

22. I¥TT dI9hH HHTT HAUR! AqIdee HUDI i\HﬂUIMIé MISER rQhHIQI(I ggedlsd dlchad,

f&F 7 A mixture made of components having same boiling points cannot be separated by

distillation process, why? (@D)]



